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Write chort mote on the followings Sxd

i) Role of RCM to aulneve the goa! of high
cqunpment availabibity.

1) Rple of CBM in the asscssment of egnipmen:
periormance,

i) 'OEE' and s ocasure for warld class
CQuUIpmICHi3

iv) TP and its role w Indusley.
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a)
t)

c)

d)
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Detuie maintenunce and its role i Industry

Discuss various challenges to be tased W
Industry i ¢he execution of muintenance
functions. x4

Discus best maiotenance practices of an
OTUMZAtion.

The prime objective of wmaintenundie is
"productivity imaprovement Uwough maximum
availability st opuiourk cost”. Justily this
statcment with suitable examples.

What is maintcnanee excelience n an lodusmy?
Write 23 cleruent for the development af an
Integrated maintepunce plan 14

Discuss m oont of » redundancy wsed tor large
Industnal systems. 10
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Write vacious uses and hmtativas ot "CMM” b)
systemn over the "MMS” 8

CMM — Computenzed mainichance mansye-
mcot '

MMS — Manual maintensnce system

Classify maintenance performance indicators.
Discuss each and give the bench mark valuve for

o steel indusiry, 12
Q6 «)
b)
Define the fellowing in reforence to the warld
class equipments 8
i)  Rcligbility ard availability
i}  Maintainabily
A system ts comprisced of four senally celated
components cach haviny o weibull time
distributivn with parameter as given below.
compule system rehability for 100 ws operation
time. 12
Componcnts | 2 3 4
Scale parameter 100 150 510 720
shepe parameter 120 0237 .80 1.00
Q.7
[mscuss maintenance budgeting, 1ts measures for b)
control in Industry. 8
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It the cost of cach replucentent in cupees is 2000
then what will be the total cost of aperation per
veur for the sclected replucenent pobey. A
svstem is sclieduled 1o operate for 2000 hes per
year. The systera MTBF and MTTR arc 400 brs
und 20 hus respectively. Culewlete the annmual
Jabour cost of comective maintenknce if the
mauintenaice labour cost 15 rupees 100 per liowr.

12

Discuss varions parametecs 0f maintamabitity. 4

An electmiGcation systam somatns | 2000bulhs.
when any bulb fails it is reploced. The cost of
replacing a bulb individually 13 Rs 10 anly, Trall
the bulbs are replaced at the suroe time, (he cost
per bulb would be Ry 4 ouly. The percentage of
sury)ving bulbs is s(1) at the end ol mweih L wnd
p(1) is the probubility of failurc during the
mionth t' are given as:

¢ 0 l 2 3 4 L O
S(t) o 97 90 70 30 15 @
(1) - DI 07 20 40 1S S

il Uhe optimal replacement plan.

Discuss various replucement models and their
limilabons, 12

define/Discuss varions fauce pattemnms. which
may occur in Indusinial equipments 5
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